base and height of a figure:

Must be perpendicular

Find the area of each trapezoid.
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Area of a Rectangle:| A =Db:h

Area of a Square;; A=b:h=g?

|Area ofa Parallelogram:] A=Db-h

The area of a Triangle.| A = %b . h

Area of a Trapezoid:| A = % (by + b>)h

Find the area of this trapezoid.
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Find the area of this Trapezoid. Round to a tenth.
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Find the area of this Rhombus.
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There are four of these
triangles.

Area of the Rhombus is the area of
four triangles.
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Area of the Rhombus = 4+(area of 1 triangle)

édv& A=4. %bh

Find the area of each Rhombus. Round to a tenth if needed.
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